1. Let the eccentricity of the hyperbola Lo
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reciprocal to that of the ellipse x> + 4y? = 4. Ifthe hyperbola

passes through a focus of the ellipse, then (2011)
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(a) the equation of the hyperbola is 37 =1

(b) a focus of the hyperbola is (2, 0)
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Solution: -
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the eccentricity of the hyperbola is 3

the equation of the hyperbola is x*> — 3y? =3
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. (b,d)Forx2+42=4 or %—J—:l
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focus of ellipse is (/3 , 0)

As hyperbola passes through (£./3 , 0)

k izzl ora=.f3
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. b=1 and focus of hyperbola (= 2, 0)
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. Equation of hyperbola is ————=1
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or x2-3y2=3



